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Answer: C 

QUESTION: 120
 
Which of the following statements is true concerning a Content Manager link?
 

A. The default behavior of a link is determined by the link name. 
B. A link is owned and controlled by the root component of the Parent item. 
C. A link can only be created between the root components of different items. 
D. A link can be created between the root component of one item and the  child component of 
a second item. 

Answer: C 

QUESTION: 121 
In order to delete a document routing definition, which of the following privileges is 
required? 

A. ItemDelete 
B. ClientDelete 
C. ItemDeletePart 
D. ClientDeleteBasePart 

Answer: A 

QUESTION: 122 
Two users, A and B, who belong to the same Access Control List (abACL), attempt to delete 
an item. Only user A is able to perform this action. Which of the following is the most likely 
reason that user B is unable to delete the item? 

A. User B has the ItemDelete privilege. 
B. User A does not have the ItemDelete privilege. 
C. abACL (which binds at item level) has ItemDelete privilege for user A. 
D. User B has ItemDelete privilege in their user profile but abACL (which binds at item level) 
has ItemDelete privilege for user A only. 

Answer: D 

QUESTION: 123 
To fulfill a request for an object from the Resource Manager, a security token is required for 
which of the following Content Manager clients? 

A. The eClient 
B. The Client for Windows 
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C. Both the Client for Windows and the eClient 
D. Neither the eClient or the Client for Windows 

Answer: C 

QUESTION: 124 
Which of the following variables in the icmrm.properties file specifies the location of the 
TSM API options file? 

A. DSMI_DIR 
B. DSMI_CONFIG 
C. TSM_API_OPT 
D. DSMI_API_OPT 

Answer: B 

QUESTION: 125 
Which of the following actions is NOT necessary in setting up a primary resource manager 
RM1 and its replica REP1? 

A. Add REP1 server information to RM1. 
B. Create collections on both RM1 and REP1. 
C. Define both RM1 and REP1 to the same library server.
D. Specify the item types on RM1 to be replicated to REP1. 

Answer: D 

QUESTION: 126 
A user given the SystemDefineSMSColl privilege has the authority to perform which of the 
following tasks on the resource manager? 

A. Create SMS collections only 
B. Update SMS collections only 
C. Create and update SMS collections only 
D. Create, update, and delete SMS collections 

Answer: D 

QUESTION: 127
 
Which of the following assignments are available in a Storage System?
 

A. Error, offline, online, standby 
B. Error, offline, online, mirrored 
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C. Assigned, offline, overflow, unassigned 
D. Activated, backup, deactivated, error 

Answer: C 

QUESTION: 128
 
What is the minimum unit of measurement for retention of objects in a storage class?
 

A. Day 
B. Hour 
C. Week 
D. Minute 

Answer: A 
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